Assignment 4:

1. (to review the linear systems)

Solve the initial value problem:


[image: image1.wmf]11

53

dY

Y

dt

-

éù

=

êú

-

ëû

 ,   
[image: image2.wmf](

)

1

0

2

Y

éù

=

êú

ëû


2. Find a general solution of 
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3. For the differential equation 
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a) compute the general solution

b) compute the solution with 
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c) describe in a brief paragraph the long term behavior of the solution in part b)

4. Find the solution of the initial value problem
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5. Find the general solution of 
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 and discuss the long term behavior of the solution.
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